INERRESE 4 5]
BBMELEICANITET DT L. EAGMBICHE>TELNTT . BEOERTENTINNIEEZELEY . Al

WoES 1
EHICHD
%, sNTICTORNIBNWTLTIZEW]

L. ROBIERD—IBEERD L.

2% ®_ & K&

(1) a1 =3, ant1 —3an—|—4 g’“"“‘i’% E Q"‘*%’“ e (2) ar =1, aneq = an +27
\ e & B ' u
”E"‘l‘ﬂ:ﬁﬁ%& K =3 o+4 @M 1 f<¥ On= Opei+ 2"
q 3 (M*L) VW - A2 Tt
ol=-1 ‘< 3bn ® Ap-at2 42
. 2 ven - 4o
bn“ On—X = Ant2 b_k{K, ) %-E, bi At = 3“*2 S Cad a2 ~We ("(}" \)397
| !?b s SRR TAir 2l
= a { + 2- " 7 il L7,
T T O e e e =R e L
2. ROWBRIZDNT. INET D% “‘otiﬁﬁ Ex. FEd Db, ‘oo” “oo”, “UREP ODWVTNHEE X Lo
W Jim = 0 @ Jm = 0, ® Jm (-2
AK-3 ‘ 2 -4 L " A _ fia 214:00
600000 = © TR, B =- e
ta¥z<kx \\%ﬁ 7 Ifif;éil: tEi 2AY, 4‘@5‘?\7{& 0000
$4343 , 128°0. B vAZLAE<RY 27
68, V\kat‘L'k%(ﬁz; (En¥ocr 4
{ G A o M B ’ .
Lk g =R GRS, 3
| 1 2 %% i < NS
o @ 2 (2440 )( - =) ) sm -3t B0 (6 lm - (Scechkk)
5 3 -
%w@ {;}@\Wf L(w\(y-lm) [im (\-7\;) = LLV\;;V\ 2- T) = r(W\ %M( = |)
e e | | |
4 }v{;?% = —ba "= m‘ﬁ'
. {}uﬂ ‘\‘v«" = 0 & 2 __L
ot T et I | 610" (57
f‘?{ e 1000°-(2 ~0.003)=(T4) A EE—|
il = T I
v 2J5n2+2 VPS8 S ;;“\\Tur]ms 2,‘ . _(;%M'L’)S\H%/")
(0 fm, o v ERS) lim W2 9n 14 ) Jﬂ&m =
i 02 B
N = }‘W L -
9 N e L '_%"' W*
= lwa SETE
.l\_wo | 3 - o
: =T - g
= “‘% = g_. _ 3 - O . ﬁﬁai@xk’
(2n—3)(3n+1) ~ N - > — J
(10) lim_ Wi+ (11) lim (n—(=1)"n) (12) lm (Vn —l—1~\/n _1)
-2 ) o izw mEER) =
- L1-5)3+% N = X <l (FEmiefe) x Mt
L’—V»mm i+w+‘ﬁi © (M‘&%ﬁ) "“”’*( w-fe) g P
| ' O 2m tALEYRE). L ()= (=)
.23 o R ARSD, i ;w
) | ‘ = lim
‘ porm W] 0o

]

04




HUR b= Db 3L

m m=1{s bz:?)ki
w2 hy=3by
n=3e b"&:%bg

1= b= 32*5%-),«

=3,
= 325,{\_§ |

o(zt) m% (11) 9 (01)

T 35

= b by b,

@\)M\/‘
X3 X3 x3

2ed21 L B R (re3)

[‘: ‘Dw—\" 3 bwz)
(v baas 3%%3)

(b(% bw—(v\-\)\
(o bosGr1=342:5)

(@ s () () () o) 0@ oM

l—w? (@) 7—, we-s(1) 1

5l




